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What difference is it [to him] - on INpD1 ON”

Overview’

The X3 asked if the seller (372%7) has no other assets, what difference is it to him
whether the buyer (7w»w) wins the case (against "17), or not; in either case he does
not have to pay (since he has no assets). 19010 struggles with this question.

mooin asks:
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It is astounding! there is a difference to 7287, whether 1v»W retains the field or
not, for if 1W»Y retains the field, 1721%7 will be exempt from paying 777, even if
72%1 becomes rich later!

N190IN answers:
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And perhaps we cannot disqualify 72187 to testify on account of this (which may

happen in the future), since now (when he is testifying) he is gaining nothing (for
now he has no assets, and cannot pay his creditor).

Summary
One may not be a M7¥2 ¥211 on account of something which may happen in the future.

Thinking it over

Is this answer of N1901n (that we are not concerned for the future) applicable only in
a case where we do not know for sure that the seller owes money,’ or is it applicable
even if we know that the seller owes money?°

!'In the X3 the text reads 727n 5799 XpD1 KA.

2 See ‘Overview’ to previous *X 1"7 ‘0.

3 1218 wants that the field remain by 1w»w, for then 7737 will collect his debt, and 72387 is free from paying. However
if pwnw loses the field and 777> cannot collect from 1vaw, the debt remains and if WY becomes wealthy later, he will
have to pay 77, so how can the X773 ask 729n 7°% Xpo1°’n?! It is a major difference to him and therefore he isa v
m7ya!

4 See “Thinking it over’.

5 In this case it is kind of a double po0; perhaps he owes money (but perhaps not), and even if he owes money he may
become wealthy (but perhaps not). Therefore in his type of poo (which is a X0 pod), we are not concerned.

6 See mwn noma.
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